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T Questriorz 2.
//_ 2% x-*‘;fu"cc--’iv’uevﬁ,_)ubéQ_Jé.lrédlr//(émli ..uj.{:rjn » C«B a,\._,[,li,@bﬁdlr/ /-_;dﬁr
[,’ s l'm;jwvl.? i3 g,d uJ)‘J L/J 2K Iy 41( UsZ sl e -.f' - 4’/

| Vi3
/ B A { Questions / -.aUFr -
l! 20 35 35% ! 5 :?JJ’J‘A' 3'1;
/ { 39 in term of percentage is; !
oY ANt i iz i T2
e Weopode | g v el ab
Mean Antecedent | Extreme _Inaratioa: b, b is called:
0 s VSIS0 1535
0% i 2 IOn the crop produced on natural resources, Ushr is
_ L {deducted at the rate of!: _
1 | U T O 11 ‘ :K:u’(U'a-%"éleb(g«hﬁuﬁ:’-f\;d{»'é-{
K 2’4 23 2'6  !Ifthere is one daughter and agnatic grand daughter their
- : ‘shares are respectively: o
3 3.3 ! 5. 3 =, 5.0 |
T R :-"3_ ! >4,7.,£_ '/:'7.-"-’_ i /a.t; s
=¥y YN =3 =21/24  |oss is there when:
Ml SP <CP Sp>. P SP = CP o
s S 1 P ! @i&'?d?(jﬁ?’bﬁfﬁgvﬁf’
'. | The person or entity whose insurance is being done is
¢ Drawer nsurd | Insurer  cglled:
I | : | ' dﬂ)J‘fJ/}LfC)'}fb JC//qubbvb d,& 496y
=y -'4""1“:- ! J_c__’, n\ | u’g
| | J’éc,lc_-w
¢t Property tax Direct tax Tax T axes which are charged on income, property and profil
. 'in the form of income tax, property tax ¢tc are called
- .‘|p‘|~:'!'t na ,,...7 ’u-.guf 5\' 7
Rational adic [ o S e . T
2 - g Radic ind < Radical 37 iscalled:
v s - 4y 4 té_.{l2+ﬁ ,f{‘;,ﬂp_{ul 2"‘;,:"‘
lmeger Ratinal | Imauomal 'y 243 isnota radical because 2 +V3 isa
: =2 '
i i A Par0 G ARSI G,
y 3 a5
Fourth term of ™ =5 12 19 where p#U
736 79 73 ‘-‘Ll'-krb”'\}./c'k’ﬂ'— -12 0 1}
i 0 ; ) G.M. between -3 and -]2 is: _ ) B
' ¢=ANB }un.:,;'_flj‘dﬁffn By AL
ANB B A ¢ 1A I
| and B are two non empty overlapping sets then
W ,\pu—‘?_‘ DN
16} Do 4 & Ry=2 M R= L,5)(5,4).(5,6),(6.4)}
- o IR = {(h$).(5,4).(5,6)(6,4)} then Range of R is'
- q /-
5 i) Vot q_!'l‘:.UUJ:J’:.Jf Y b5
The perpendicular distance of a point from Y-axis is .
( UNRRT ADsCissa Ord nate Ongin i
) ¢ called.
/S - T PPV
// _ . JRRYY ‘J rUeRJlav e e J "J'.; ¢ ‘.v..'
) S ¥ y g ki
/ / - c_rw-,r./v...
) llhmgraln CLive Cune \\ hen a bar graph is constructed, so that the area of

each bar 1s proportional to the number of items in each
group is called:
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SECTION # 1

Question # 02

Attempt any Six Parts

L.

IV.

VL

VIL

VIIL

IX.

S daelialea = 255
If 4/5 of the students in a school have been away for a holyday. How many in every hundred has
been on holyday?

S ey S pyie S S Ll

WS aslaa Caal (S x e Gl S 20:5::8:x

Clear the Concept the word ratio.

Find the value of x in Proportion 20:50::8:x
f e lS —wrad
What is meant by percentage?
S S s S
What do you mean by zakat?
f S polaa 58 02 8L S 5004000
Calculation zakat of Amounting on Rs. 500,000?
S0 S bl y 34 S plaii )l oS
What is difference between Profit & Loss?
67 Sisen 29728 Crafanliz 0 Son aS plaa Dk 3 Coaid
Find SP when MP = Rs 728 discount =6%
TS iy e S i)
Define Inheritance?

Question # 03

Attempt any six Parts

I.
I1.

1L

VL
VIL

VIIL
IX. .

wASda el —w oS
Define Credit Card?
St Yoa S e psm )
What is meant by Premium?
§ S Caf dual (S Siana€ o 0 s s 16 U O3 =2 390 344800 Caaf LS 5 1S Sl
A Computer Price is Rs 34,800 inclusive of 16 % sales Tax what is the original Price of the
Computer?

S S S (S OSS Sh
Define Sales Tax?
U8 Gy el S (SS Ll
Define Excise Duty W/ . e
Provethat ~ 3log2 +log5 = log 40 —(j} o C é(//"d}

Solve log(x +3) =2
1 1 =
Simplify (as b3 )z_1 - (a§ b%)-3
Written a Scientific Notation
§ 565 O pf i uaiils S 504004000

o ‘(7/ ), 9 Question # 04
57
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4,

...\ |

~y
Attempt any six parts

=S pislipler oGS

e dla ol S Gy yai (S Lds _Solel
/ I.  Define Sequence and give Example?
/ f s Jla ) oS iy yad (S S
/ I, Define Set & give Example?
/ S iy e S (6 i i IS
' I, Define Cartesian Planc?
§ S <y ye S ol S Sy
IV.  Define Histograms?
S osband )

V.  Find first two term Of% = (-1"nd
§ S psbea il (S 9 55924 bausy ran K16 Usla R

VI. 1f A.M between ‘a’ and 16 is 24. Then Find the value of ‘a
oS o slaAXB 5 5B={a,b} Ls)A={2,3,4} S

VIL.  IfA={2,3,4} and B= {a.b} find AxB
S Spsbakiuy o palS8 4 402

VIII.  Find geometric mean of 4, 2 and 8?
:I-\LIS_'.' ‘a_,la..s'_uuaus.)\)‘
IX.  Find the Range of the data? 6, 8, 13, 11, 18, 27, 23

Section # 02

Question # 05
Attempt any Three Long Question

fup SSala 2 )8 2 Ssa S (pe 2904050 5 5 2290 6750 e (S 05sa 15 S 38
a. The Price of 15 Suits in Rs. 6750 how many much suits can be Purchased by an amount of Rs.
4050?

Suila gl nFser Ol e sl S OB e S eaw ) S5 o shser daila (Sl 55 484004000 o S0

ol pslaa e (S an LSS 5
b. Akram left a property of worth Rs. 48,00,000 he left behind a Widow, 3 Sons and 4 Sisters,
Calculate the Shares of each?

Question # 06
‘ § 33:2:5 Cud (g gyman SO S i il S i 355 200000 e palill (35

|~ a. Distribute Rs. 200000 as a Profit in business regarding Threc Persons if their Shares are in the
\ ratio 3:2:5?

f insS pslaa allia By c“uw\ﬂu/ 6 A=S Jd 255600
b.  Find Compound on Rs. 600 For 4 Years at 6% per amount?

WZ/ a” %ﬁﬁﬂ Xa
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Question # 07

Sl 5y oGl 30—l 61 S Ly 08 Sl w8 (ST 16 Ly JSail K1 1y 5 4000 Caas S JSile S

a. The Price of a Cycle is Rs. 4000 if 16 % Sales Tax is charged then calculate the amount of sales
tax on 30 such cycle?

JSEN . SV U PLENPV LS
b. Solve with the help of logarithm table 2383991

Question # 08

a. Ifthe A.Ms Between “a” and “b” are 5,9 and 13 find a & b?
b Usla dac) 50 R
8.8 50 US Caal (Sb gla i sy e OF 03 5 49 e S

b. IfA={7,10,13,14} .U={7,8,9,10,11,12,13,14} or B={7,8,11,12} find then

Verify that (A N B)® = A° U B¢

wAS el 5 g A= {7,10,13,14}, U= {7,8,9,10,11,12,13,14}, B= {7,8,11,12} B
Verify that (A N B)¢ = A° U B®

Question # 09

€ Ol IS8 wase (SOl sl eSS il 8
a. Draw figure with help of following points on graph paper?
A(0, -5), B(3, -2), C(3, 0), D(6, 7)
S S psbre milans g gl syl € o1 50
3,5,6,8,8,9,10
b. For the data find mean & Median?
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